
Angličtina – 22. 6. – 26. 6. 

ŘEŠENÍ – U 67/3a 

1 He has to …..     2 So we have to …..     3 You have to….. 

ŘEŠENÍ – U 67/3b 

1 He doesn´t have to start…….     2 I don´t have to stay…….. 

ŘEŠENÍ – U 67/3d 

1 Do you have to…….?         2 Why does he have to…….? 

ŘEŠENÍ – PS 60/2 

3 Bill and Ella don´t have to cut……       4 Ella has to feed…..        5 Matt doesnť have to do…  

6 Suzie and Ella have to clean…..     7 Bill has to set…..     8 Bill and Matt ddon´t have to iron…  

--------------------------------------------------------------------------------------------------------- 

PS 61/3 

Procvičuj si:  

Present continuous 

https://www.perfect-english-grammar.com/present-continuous-exercise-5.html  

Present simple  

https://www.perfect-english-grammar.com/present-simple-exercise-7.html  

Past simple  

https://www.perfect-english-grammar.com/past-simple-exercise-7.html  

The verb have to 

https://agendaweb.org/exercises/verbs/modals/have-to-write  

http://www.focus.olsztyn.pl/en-have-to-has-to-exercise.html#.XujXK-fgo2w  
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